<A 20244% _

2 g 24 B B (GE5ERA) 9H98 ~ 9/14H R BRIEETEBEPHK
BE 98 %FE2EHB
== 9H9H AEE 94108 K BE 9A11R 7KBE 9A12H N 9H13H =g 9H14H THE
BErag| 15(-) 28 (—) 3FE(—) 1E(21) 24£(21) 34£(21) 14(22) 24(22) 34(22) 14(23) 24(23) 34(23) 14(24) 24(24) 34(24) 15(—) 28 (—) 3FE(—)

AKEXR=IREKRE EhEE EhEE P T AKRMEE HERITTE (KB
PTASHS - BEFiEEL 8:30~8:45(15)
HREES (15:55-%4R 2)

17

=2
£
XEh

(REFE]
168 (A)#EnH

H RIS R B LA

g 178 (k) BB D IR+ (AM)

B 188 (K) HE % (~25K)

3] 1 2EHL (KEHE)

]

H

1)

H

i
xE VA = EE YIRFZR fELE EE RHP 25 (-158)
Hi5

S At énit Y




